<‘\®Black Box Corporation

The World's Source for Cabling and Network Connectivity™

MARCH 2001
LMC205

FlexPoint™ 5 Rack-Mounting Shelf

CUSTOMER Ordertoll-free in the U.S.: Calg77-877-BBOX
SUPPORT (outside U.S. call24-746-550D

INFORMATION FREE technical support 24 hours a day, 7 days

aweek; Call24-746-550@r fax724-746-0746
Mailing addressBlack Box Corporation,

1000 Park Drive, Lawrence, PA 15055-1018

Web site:www.blackbox.com
E-mail: info@blackbox.com

<‘\®Black Box Corporation

The World's Source for Cabling and Network Connectivity™

MARCH 2001
LMC205

FlexPoint™ 5 Rack-Mounting Shelf

CUSTOMER Oirdertoll-free in the U.S.: Calg77-877-BBOX
SUPPORT (outside U.S. call24-746-550D

INFORMATION FREE technical support 24 hours a day, 7 days

aweek; Call24-746-550@r fax724-746-0746
Mailing addressBlack Box Corporation,

1000 Park Drive, Lawrence, PA 15055-1018

Web site:www.blackbox.com
E-mail: info@blackbox.com

Description
The FlexPoint™ 5 rack-mountable shelf was designed
to hold up to 5 FlexPoint modules.

Inventory:
The FlexRack kit includes the following hardware:
1) Shelf unit.

(5) “L” shaped tab brackets.
(5) Flat head screws, 4-40, 1/4 inch.
(5) Pan head screws, 4-40, 1/4 inch.
Installation

Warning:

Before installing a FlexPoint unit, make sure to
disconnect it from its power adapter and to disconnect
the power adapter from the AC power outlet.

Mounting:
Installing the FlexRack 5 is done in two steps:
Installing the Tab Brackets:

1. Remove screw from forward-side of the FlexPoint
unit to be installed.

2. Align the screw threads of the FlexPoint enclosure
with the holes in the bracket.

Description
The FlexPoint™ 5 rack-mountable shelf was designed
to hold up to 5 FlexPoint modules.

Inventory:
The FlexRack kit includes the following hardware:
1) Shelf unit.

(5) “L” shaped tab brackets.
(5) Flat head screws, 4-40, 1/4 inch.
(5) Pan head screws, 4-40, 1/4 inch.
Installation

Warning:

Before installing a FlexPoint unit, make sure to
disconnect it from its power adapter and to disconnect
the power adapter from the AC power outlet.

Mounting:
Installing the FlexRack 5 is done in two steps:
Installing the Tab Brackets:

1. Remove screw from forward-side of the FlexPoint
unit to be installed.

2. Align the screw threads of the FlexPoint enclosure
with the holes in the bracket.

3. Attach bracket using the removed screw and a
second 4-40 flat head screw (enclosed with the kit).
Below is a picture of the FlexPoint with a properly
attached tab bracket.

Installing the FlexPoint unit:

1. Slide unit into shelf. Rear of unit should protrude
from the opening at the rear of the shelf.

2. Attach tab bracket to shelf using a 4-40 pan-head
screw from the parts Kkit.

3. Follow any installation instructions in the FlexPoint
User Installation guide.

TRADEMARKS

All applied-for and registered trademarks are the property

of their respective owners.

3. Attach bracket using the removed screw and a
second 4-40 flat head screw (enclosed with the kit).
Below is a picture of the FlexPoint with a properly
attached tab bracket.

Installing the FlexPoint unit:

1. Slide unit into shelf. Rear of unit should protrude
from the opening at the rear of the shelf.

2. Attach tab bracket to shelf using a 4-40 pan-head
screw from the parts Kkit.

3. Follow any installation instructions in the FlexPoint
User Installation guide.

TRADEMARKS

All applied-for and registered trademarks are the property

of their respective owners.

©Copyright 1999-2001. Black Box Corporation. All rights reserved.

1000 Park Drivee Lawrence, PA 15055-1018
724-746-5500e Fax 724-746-0746

©Copyright 1999-2001. Black Box Corporation. All rights reserved.

1000 Park Drivee Lawrence, PA 15055-1018
724-746-5500e Fax 724-746-0746



